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OLEAEEdH 29 10,800
= 7,200
Al 3,600

301 LA F 173,440 160,592 12,848
= 121,940
Al 51,500

01 Ml28E 6= 22,100 106,440 A 84,340
OEYAEENH 2Y 22,100
= 13,000
Al 9,100

10 HALAHI 24 S 52,340 54,152 21,812
OEEHAERENH 2g 52,340
= 39,940
Al 12,400

12JEEd= 99,000 0 99,000
OEYAEENH 2Y 99,000
= 69,000
Al 30,000

307 212+0| & 39,800 0 39,800
= 29,800




G4 - OIS=X BA
ol=s=2X AN (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 10,000
o1 osed =4l 39,800 0 39,800
OEEAEEHNEH 29 39,800
= 29,800
Al 10,000
401 AlEHIZ 201 Y| 7,000 3,000 4,000
= 7,000
01 A& H| 7,000 3,000 4,000
OEZEAEEHNEH 29 7,000
= 7,000
405 XHAHFEEHI 12,000 10,000 2,000
= 7,000
Al 5,000
01 XA 2B F S| 12,000 10,000 2,000
OEEAEEHNEH 29 12,000
= 7,000
Al 5,000
QIAXd= XS 60,000 0 60,000
301 et A= 60,000 0 60,000
01 AMFSIEXEE 2562 60,000 0 60,000
oOLAXNdA= XN 2,000,000 30 60,000
XIS{OtSMIE SAKEH @K & bl 93,300 0 93,300
= 18,660
Al 74,640
307 2Iz2to| & 93,300 0 93,300
== 18,660
Al 74,640
10 MM S X EX 93,300 0 93,300
OXNAOtSHE SALAA R0 & ] 93,300
= 18,660
Al 74,640
NE0otsHE A XA 983,340 0 983, 340
= 212,760
Al 770,580
307 giztol A 983,340 0 983, 340
= 212,760
Al 770,580
10 Al SR EX 983,340 0 983, 340
OXgotsdH 8uts SAH A3 851,040
o= 212,760
Al 638,280
OXYolsSHdEH EQdE 24AH X& 132,300
Ol=EXAIAd X& 4,184,606 3,827,359 357,247
= 643,830




2N
X ZH -
L= B

el

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= N[

1

. 158,414

777,367

,604,995

OFS=EXAE 28X

= M [

,804,017
, 142,796

437,865

,223,356

2,725,732

78,285

307 21201 A

= M [

,804,017

1,142,796

437,865

,223,356

2,725,732

78,285

10 AFRIS X2 X

OOtsEXIAIE 23]

OSMA SE€¢ & SOUH 22

= M AL

= M

— N N

,804,017

,688,933
, 142,796

403,340

142,797

115,084

34,525
80,559

2,725,732

78,285

AN&Oots K&

= M

131,140
39,342
91,798

175,377

N44,237

307 21201 &

= M

131,140
39,342
91,798

175,377

N44,237

10 AFRIS X2 X

OANZots X&

= M

131,140

131,140

39,342
91,798

175,377

N44,237

e
02
o
el
Mo
02
[=s

= H AL

44,623
15,618
13,387
15,618

43,323

1,300

307 glztol &

= H AT

44,623
15,618
13,387
15,618

43,323

1,300

10 Al S X2 X

oyl 2|

= H M

44,623
44,623

15,618
13,387
15,618

43,323

1,300

0]
HL
fol
o
om
|J
i
Ol
20
02

= W

474,576
189,830
142,373
142,373

415,477

59,099

307 21201 &

474,576

415,477

59,099




AN GEIEY
Hu: oM - OlS=X =d
&2 OFSEXAE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 189,830
< 142,373
Al 142,373
10 AFRISXIE X 474,576 415,477 59,099
oREslts 158 294 474,576
= 189,830
< 142,373
Al 142,373
Ots=XNAE Es0ts K& 53,650 53,650 0
301 LAz 53,650 53,650 0
01 MI2ZHE 6= 53,650 53,650 0
O0tsS=XAE BE50ts 2HAlH]
5003 220 «3652 40,150
OOts=XAE Ots =SHE#HI(Z - 1)
300,000& *45H x 13| 13,500
ANEotsdy el X 13,800 12,000 1,800
307 21201 A 13,800 12,000 1,800
10 A2l =S X2 X 13,800 12,000 1,800
OX<gotsdH el X& 200,000 *6904 A 13,800
NGotsdH JIs22 45,000 0 45,000
< 45,000
402 2I2H X201 M 45,000 0 45,000
< 45,000
01 RIZEAt=2 82 X 45,000 0 45,000
OXZotsHH JIsEL 45,000
< 45,000
NEotsdEH W4 XA 13,800 10,800 3,000
307 glz2+ol & 13,800 10,800 3,000
10 A3l =X 2 X 13,800 10,800 3,000
OXN<gotsdH WiHwH XI&
200,000 694 2 13,800
OFES=XNAE JIs2H 184,000 0 184,000
= 76,000
= 70,000
Al 38,000
402 RI2FX=201 M 184,000 0 184,000
= 76,000
< 70,000
Al 38,000
01 RIZEAI2E X 184,000 0 184,000
OOtS=EXAE JIsEL(HEESH) 32,000
< 32,000
OOS=EXAIE JIsEZ (224l 3ML) 152,000
= 76,000
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o4 - otssX &
OtsEXAAE X (2 &HH)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
[ 38,000
Al 38,000
Ols=XAIE MASO 360,000 360,000
= 324,000
= 25,200
Al 10,800
307 2iz2to| A 360,000 360,000
= 324,000
= 25,200
Al 10,800
10 Ml SXIEX 360,000 360,000
OOsS=2XAIE MHASN 360,000
= 324,000
o= 25,200
Al 10,800
Ols=EXAE D20 60,000 60,000
= 54,000
= 4,200
Al 1,800
307 212t0| ™ 60,000 60,000
= 54,000
= 4,200
Al 1,800
10 Al S X2 X 60,000 60,000
OsSEXAE BESH 60,000
= 54,000
& 4,200
Al 1,800
8 & 1,430,800 714,000
= 125,000
Al ,305,800
gt s StSAIE D F2H XS 20,000 0
301 LBt A= 20,000 0
01 Al E & A %62 20,000 0
OMUTE StSAIE WMLPH XN
500,000 4004 2~ 20,000
OI2I0{ gl 0l & BEKWA B8 K& 190,800 18,000
307 2I2t0| & 190,800 18,000
06 22 190,800 18,000
OBRIZI02I0ZE BSWAI EE€2(1E - AHX)
& 6,000& *2,6502H x12& 190,800
BRIA SE€2 & 510,000 90,000
301 et A= 510,000 90,000
01 Al B & X 26 2 510,000 90,000




2N

Hu: oM - OlS=X =d
ge 2] X eEH)
SN HH-S(BN) - MBAY - B il HlnE2
OE=uwA S8+ X&
50,000& *2,550H *43| 510,000
g5 =XXA 20,000 0 20,000
307 glz2+ol & 20,000 0 20,000
02 RIZHEAME X 20,000 0 20,000
Oollel =0{0/& Hs& 20,000
oHelold JIisead 25,000 0 25,000
< 25,000
402 BIZEXHE0| A 25,000 0 25,000
= 25,000
01 RIZEAI2E X 25,000 0 25,000
OB 0ld JIsE2 (24 oeold) 25,000
< 25,000
oelold oelol tdsHMel It X& 115,000 104,000 11,000
307 21201 A 115,000 104,000 11,000
06 2= 115,000 104,000 11,000
O0EOId HEelol ¢XdBHE It XN
5,000& 23,000 115,000
ESFBHdH 44X 500,000 0 500,000
< 100,000
Al 400,000
201 Let24d] 300,000 0 300,000
< 60,000
Al 240,000
01 At 22l 300,000 0 300,000
OESZEBHH &X 300,000
= 60,000
Al 240,000
401 Al&HI & 28I 100,000 0 100,000
< 20,000
Al 80,000
01 A& HI 100,000 0 100,000
OEEdEHMEH &X 100,000
< 20,000
Al 80,000
405 TtabF S| 100,000 0 100,000
< 20,000
Al 80,000
01 AL EFH S 100,000 0 100,000
OESZEBHH &X 100,000
= 20,000
Al 80,000
M5 250 sotsUHsl 50,000 0 50,000
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Sk

X ZH -
S =

SRk

GRS
e - ots=A 58
|

25 X

- RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 50,000 0 50,000
02 It A X 50,000 0 50,000
O&=E B0 s0ISUH3 50,000
MY XJ 615,000 605,000 10,000
& 3,000
Al 612,000
AITHOF Ol & M0 XAHE 2=H| A& 600,000 600,000 0
301 et A= 600,000 600,000 0
01 Al B & X 26 2 600,000 600,000 0
OAMIFHOI Ol& =M0F It ¢¥=sdHl A
100,000& x500H ~ 12& 600,000
SMERFIE A2/ 24 5,000 5,000 0
307 2izto| A 5,000 5,000 0
02 QI2tA3 A X 5,000 5,000 0
OEAMRSZIAE A2 =4 5,000
OLOI LD ZE2HM4 228 29 10,000 0 10,000
= 3,000
Al 7,000
307 QI2t0| ™ 10,000 0 10,000
= 3,000
Al 7,000
10 Al S X2 X 10,000 0 10,000
OO0l E2HA 228 2¢ 10,000
& 3,000
Al 7,000
CE23tAIS X & 1,126,487 928,843 197,644
= 5,500
J| 425,259
= 207,394
Al 488,334
Ct23tAIS X & 1,112,987 915,843 197,144
Dl 425,259
= 207,394
Al 480,334
ChE3tE A EE X 10,000 10,000 0
307 212t0| ™ 10,000 10,000 0
02 QIZ2t3 A X 10,000 10,000 0
ogXel&d s < FHHor2+4 0l 10,000
CIE3IEs XN|HdH 29X 572,880 409,650 163,230
J| 314,216
& 44,888
Al 213,776
307 2iz2to| A 542,880 409,650 133,230
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2A: 41
B 23S T2
R U2SAIS X & (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
J| 314,216
= 44,888
Al 183,776
10 Al S X2 X 542,880 409,650 133,230
OUE3IIE XNJHEH 29X 448,880
J| 314,216
& 44,888
Al 89,776
OUERSIIE Allg HilgAs 24 94,000
402 SI2FXHE0| & 30,000 0 30,000
01 QI2tXE8 X 30,000 0 30,000
ocl2gy o &I7e 30,000
CI23IIE MEdELE 29 5,000 5,000 0
307 212t0| ™ 5,000 5,000 0
02 QIZ2tZ A X 5,000 5,000 0
OUESIIE MEdE2LL 24
2,500,000 20 At 5,000
235 HHsS 90 U235 &M 8,000 8,000 0
201 et | 5,000 5,000 0
03 A2 H| 5,000 5,000 0
O23te HHE= 90 U= M
2,500,000 20 At 5,000
301 et A2 3,000 3,000 0
10 HALAHI B &2 3,000 3,000 0
O23te &8s 90 UESSIr= &M
1,500, 000& «2 0 Al & 3,000
ZAETH0IF=THE ESAE 29X 133,202 134,843 N 1,641
& 66,601
Al 66,601
307 giztol A 133,202 134,843 N 1,641
& 66,601
Al 66,601
10 Al S X EX 133,202 134,843 A 1,641
OZ=I0oH0IFHE BESAE A& 133,202
= 66,601
Al 66,601
CIE23IE =20 s 27,000 26,000 1,000
& 10,800
Al 16,200
307 212t0| & 27,000 26,000 1,000
=} 10,800
Al 16,200
10 M3 EXEX 27,000 26,000 1,000
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:FSIEn
Ct23tALSI K&
CtE23HALS X1 (&)
% S 4 14
SN BB (BH) - MR e Hl D= 2t
otU=sitE =0 1 27,000
< 10,800
Al 16,200
Ct23sts 90 ¥ nsiA 83,194 58,930 24,264
J| 58,235
< 8,320
Al 16,639
307 21201 A 83,194 58,930 24,264
J| 58,235
= 8,320
Al 16,639
10 A2l =S X2 X 83,194 0 83,194
OU=23IE A & 83,194
J| 58,235
< 8,320
Al 16,639
Z20/8X S - HAMH A 42,960 42,006 954
J| 30,072
< 4,296
Al 8,592
307 glz2tol & 42,960 42,006 954
J| 30,072
S 4,296
Al 8,592
10 AtSI =X 2 X 42,960 42,006 954
OZE0I2X & - 8dY 42,960
J| 30,072
< 4,296
Al 8,592
Ct2stEXNJHEH SAME X 23,623 19,200 4,423
< 9,449
Al 14,174
307 21201 A 23,623 19,200 4,423
< 9,449
Al 14,174
10 AFRISXIEX 23,623 19,200 4,423
O IIEXNJEH 23,623
S 9,449
Al 14,174
ChENERNE 0 SHHAMH 32,480 16,264 16,216
J| 22,736
< 3,248
Al 6,496
307 gl2tol & 32,480 16,264 16,216
J| 22,736
< 3,248
Al 6,496
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AN GEIEY
dM: O23tAte XA
chel: OEtAE K& ool E )
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
10 A3l S X2 = 32,480 ,264 16,216
OUZsIIEXE 0ISHAH ALY 32,480
J| 22,736
< 3,248
Al 6,496
ZE0IQA AgEHNS 22,000 ,000 210,000
< 8,800
Al 13,200
307 21201 A 22,000 ,000 210,000
= 8,800
Al 13,200
10 A2l =S X2 X 22,000 ,000 210,000
OZE0|2t HgEdu=s 22,000
< 8,800
Al 13,200
ChENEXNSHEH dUHE 25,600 ,600 16,000
201 LBH2E| 25,600 ,600 16,000
01 At 22l 25,600 ,600 16,000
OL=ZAINEXNZLYH SUHESS
800,000& »12& 9,600
OU=2sIIE Az Hilgs: 228 dU=z 16,000
Ch23std d=2SHAAY 21,400 ,000 5,400
< 8,560
Al 12,840
307 glz2tol & 21,400 ,000 5,400
< 8,560
Al 12,840
10 A3l S X2 = 21,400 ,000 5,400
OUZsIE d=2ScAAY 21,400
< 8,560
Al 12,840
ANEdy Chzstoisstyd 29 42,168 0 42,168
< 16,868
Al 25,300
307 21201 A 42,168 0 42,168
< 16,868
Al 25,300
10 Al =S X2 X 42,168 0 42,168
OXYdH Ct2stotssd 29 42,168
< 16,868
Al 25,300
ZS0I2X s SHIX & 10,000 0 10,000
S 5,000
Al 5,000
307 glz2tol & 10,000 0 10,000
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AR GRS =]
A

b
H: 2SAIS A&
R U2SAIS X & (e H)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 5,000
Al 5,000
10 Al S X2 X 10,000 0 10,000
OZZ0|2I At CHSF sHH| X & 10,000
< 5,000
Al 5,000
220K SSHF sHFSK 45,200 0 45,200
= 18,080
Al 27,120
307 212t0| & 45,200 0 45,200
o= 18,080
Al 27,120
10 MM S X EX 45,200 0 45,200
OZ2E&0|2A =SHE sHFSAE 45,200
< 18,080
Al 27,120
ChESIIEXNJNE SAMXN SIS 5,880 0 5,880
& 1,764
Al 4,116
307 2izto| A 5,880 0 5,880
& 1,764
Al 4,116
10 Ml SR EX 5,880 0 5,880
OURHNENAME SAK SX+Y 5,880
< 1,764
Al 4,116
ZAT|HOITFTHEESAIE SAHA EXxE 2,400 0 2,400
=} 720
Al 1,680
307 QI2t0| ™ 2,400 0 2,400
= 720
Al 1,680
10 Al S X2 X 2,400 0 2,400
OZSIoHOITHAEESAIE SANA 22X 2,400
& 720
Al 1,680
=sto|g =0 XA 13,500 13,000 500
= 5,500
Al 8,000
S50/2F0 INSE N 8,000 8,000 0
301 et A= 8,000 8,000 0
01 Al E& A %52 8,000 8,000 0
o=stoIg=0 HF=E XN& 8,000
SSH0|EF=0X8 XNEEEos 24 5,500 5,000 500
= 5,500
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